t,had

pT

1/o0do/d

Ratio to ATLAS

=
o
R

=
o
@

0.5

13()00 va PP

tt
| T I | ' T ' T T [
| top — 3
= pT (ATLAS semileptonic tthar) 33
— 13
| —O
—i
— A
o
— =
= =P
~ =l
- 1%
=
n -
_ E
— mie)
| ™
@
(40)
= =9
= m ATLAS 49
—  --O-- Herwig++ 2.7.1 default :i
| --3-- Herwig 7.2.1 default — @
| —&— Pythia 8.308 default _15
= - ¥- Pythia 8.308 vincia-default =S
I ¢ Sherpa 2.2.5 default 38
| — 0
- 1z
o
(&)
= | | | I | — "
= . =P
— ’ ......... * -
S S h
:’ [ 2 \\(‘3 ——————————————————— :
| —0.5
| 1 1 1 1 " | " 1 " 1 1 " |
0 500 1000



	Contents
	Page 1


